

Asita Onisokasuei 171ENG061094  
Mechanical  
Eng 381

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = \cos t$$

Given that when  $t = 0$ ,  $x = 0.1$   
 $\frac{dx}{dt} = 0$

(i) Using Auxiliary Method, obtain the solution in form of an expression having  $x$  as a function of  $t$

$$\frac{d^2x}{dt^2} + 5\frac{dx}{dt} + 6x = \cos t \quad - (1)$$

$$x = CF + PI$$

$$CF: \quad k^2 + 5k + 6 = 0$$
$$k^2 + 2k + 3k + 6 = 0$$
$$k(k+2) + 3(k+2) = 0$$
$$(k+2)(k+3) = 0$$

$$k_1 = -2 \quad k_2 = -3$$

$$CF: \quad Ae^{k_1 t} + Be^{k_2 t}$$
$$Ae^{-2t} + Be^{-3t}$$

$$PI: \quad x(t) = \cos t$$

$$x = C \sin t + D \cos t$$

$$\frac{dx}{dt} = C \cos t - D \sin t$$

$$\frac{d^2x}{dt^2} = -C \sin t - D \cos t$$

$$-C \sin t - D \cos t + 5(C \sin t - D \cos t) + 6(C \sin t + D \cos t) = \cos t$$
$$(-C - 5D + 6C) \sin t + (-D + 5C + 6D) \cos t = \cos t$$

Comparing coefficient

$$5C - 5D = 0 \quad - (2)$$

$$5C + 5D = 1 \quad - (3)$$

from equation (2)  $5C - 5D = 0$

(3)  $5C + 5D = 1$

equation (3)-(2)  $\Rightarrow$  ~~10D~~  $10D = 1$

$D = \frac{1}{10}$

Substitute  $D = \frac{1}{10}$  into (2)

$5C - 5\left(\frac{1}{10}\right) = 0$

$5C - \frac{1}{2} = 0$

$5C = \frac{1}{2}$

$C = \frac{1}{10}$

PI  $C \sin t + D \cos t$

$= \frac{1}{10} \sin t + \frac{1}{10} \cos t$

$x = CF + PI \Rightarrow Ae^{-2t} + Be^{-3t} + \frac{1}{10} \sin t + \frac{1}{10} \cos t$

$x = Ae^{-2t} + Be^{-3t} + \frac{1}{10} (\sin t + \cos t) \quad \text{--- (4)}$

$t = 0, x = 0.1$

$\frac{dx}{dt} = 0$

$\frac{dx}{dt} = -2Ae^{-2t} + (-3)Be^{-3t} + \frac{1}{10} (\cos t - \sin t) \quad \text{(5)}$

from (4)  $x = 0.1 \quad t = 0$

$0.1 = Ae^{-2(0)} + Be^{-3(0)} + \frac{1}{10} (\sin(0) + \cos(0))$

$A + B + \frac{1}{10} = 0.1$

$A + B = 0 \quad \text{--- (6)}$

from (5)  $\frac{dx}{dt} = 0, t = 0$

$0 = -2Ae^{-2(0)} + (-3)Be^{-3(0)} + \frac{1}{10} (\cos(0) - \sin(0))$

$= -2A - 3B + \frac{1}{10}$

$2A + 3B = 0.1 \quad \text{--- (7)}$

Multiply eqn 6 by 2

$$2(A+B) = 0$$

$$2A + 2B = 0 \quad - 8$$

Equation (7) - (8) :  $2A + 3B = 0.1$

$$\underline{2A + 2B = 0}$$

$$B = 0.1$$

$$B = \frac{1}{10}$$

Substitute  $B = \frac{1}{10}$  into eqn (7)

$$2A + 2\left(\frac{1}{10}\right) = \frac{1}{10}$$

$$2A + \frac{1}{5} = \frac{1}{10}$$

$$2A = \frac{1}{10} - \frac{1}{5} = -\frac{1}{10}$$

$$A = \frac{-\frac{1}{10}}{2} = -\frac{1}{20}$$

$$x = -\frac{1}{20} e^{-2t} + \frac{1}{10} e^{-3t} + \frac{1}{10} (\sin t + \cos t)$$

---

---



Write the steady state solution  
 $x = C \cos t + D \sin t$

$$\text{let } C = k \cos a \quad \text{and} \\ D = k \sin a$$

$$\therefore x = (k \cos a) \cos t + (k \sin a) \sin t$$

$$x = k [\cos a (\cos t) + \sin a (\sin t)]$$

applying trigonometry

$$x = k [\sin t \cos a + \cos t \sin a]$$

$$= k [\sin t \cos a - \cos t (-\sin a)]$$

$$= k \left[ \cos\left(\frac{\pi}{2} - t\right) \cos a - \sin\left(\frac{\pi}{2} - t\right) \sin a \right]$$

$$\sin(-t) = -\sin t \quad \cos(-t) = \cos t$$

$$\sin t = \cos\left(\frac{\pi}{2} - t\right) \quad \cos(t) = \sin\left(\frac{\pi}{2} - t\right)$$

$$x = k [\cos\left(\frac{\pi}{2} - t\right) + (-a)]$$

also  $\cos(a+b) = \cos a \cos b - \sin a \sin b$

$$x = K \left[ \cos\left(\frac{\pi}{2} - t\right) - a \right]$$

$$= K \left[ \cos\left(\frac{\pi}{2} - (t+a)\right) \right]$$

$$= K \left[ \cos \frac{\pi}{2} \cos(t+a) + \sin \frac{\pi}{2} \sin(t+a) \right]$$

also  $\cos(a-b) = \cos a \cos b + \sin a \sin b$

$$x = K \left[ 0 \times \cos(t+a) + 1 \times \sin(t+a) \right]$$

$$= K \left( \sin(t+a) \right)$$

$$= K \sin(t+a)$$

Therefore the steady state solution of  $x = C \cos t + D \sin t$  is  $x = K \sin(t+a)$